e Y3y Ald Qa1 ST
W= &7, 3R

s Fwie —\2.9/2018 /% =R feAi®d — 11.02.2019

s e

RTU TS ONIET (W) 2018 @ fawa — efie @) siftm Sv @od

SO Ul gl (fe) — 2018 @ wed N emdm BT o sty @eiw
107 /2019 /9e, AR A% 24012019 & sicvla fiwy —eem & wer o & rafrs
SR Dol Rl B AN @ deEie W weEm @ T o apaPiit @ urg
ﬁﬁﬂﬁqmﬁwﬁmﬂﬁmﬁmqﬁwﬁwmawwﬁm&rmﬁaﬁ
T G T B B uREId ANy [Efie & wegs ) e weifn et sww
el 7 T 1 7 W I gl 21 T SR IR BN B SR W We qhen @
afRemA IR fbar S| st a9 g waw d spalal 3 Rl uer @ ge wm wad)
smafRral / spmdet W R @ wme ) apeft s @ dseEe w oo A
AR Gd e u WA T ureeE @ w9 e ww v - e 9 R
ﬁﬁ'c'Wmﬁwmwﬁﬁrwﬁmm?ﬁaWaﬁmwww.mppsc.nic.in,

www.mppsc.com 7@ www.mppscdemo.in W &A% 11.022019 & Iuerer @l |

H

e Frass (@e)
R UTET 9OET Yens




State Eligibility Test - 2018
(Final Answer Key)

Home Science

Q1 A diet rich in saturated Fatty Acids can be linked to which of the following?
Th JHTER SN HJod alT 3Eell § oo 81 et 7 § fhady gefed g2

Kidney failure

IEEGIRIGEES

Anorexia

TARTFo T

Bulimia

EGUGEL

S

Cardiovascular disease

Fifsat deper fSelet

Answer Key: D

Q2 Most important nutrient for healthy vision:

Taeey Tt & fo 3rcarfRe Agcaqut dive dea :

Vitamine K

fFerfdsr K

Iron

3RRA

Calcium

Fiogad

D |Vitamine A




erfasT A

Answer Key: D

Q3 The simplest form of carbohydrates:

FISIST T TIY TIAdH &9 :

Glyocogen

TATRYRISTeT

Glucose

To[alaT

o

Starch

e

D

Cellulose

Tegalral

[\

Answer Key: B

Q4 Select correct options from the following codes with context to assertions &

reasons:

Assertion (A): Each food group makes an important distinctive nutritional
contribution to the diet .

Reason (R):No food group taken alone provide adequate amount of all the
essential nutrients

codes:

A f3T 91T et A ¥ 31fFFeq (31) Ud HROT (F) & T A FEI fdehod ol Tl
HfFFY (31): I3F HIsT T, 3R # faRrse qvol Jerere & gl

HROT (F): s 31 T THG el ol R G A2 Nk deq GATed AT 7 FaTeT g0
T B

Fec:

[N

(A) is correct but (R) is incorrect.

(37) T & ARl (F) Tl &

(A) is incorrect but (R) is correct.

() T & ket (31) 7T &




Both (A) and (R) are correct.

(31) 3R () a=t wEr B

Both (A) and (R) are incorrect.

® 1) 3t () 2t oo 21

Answer Key: C

Q5 Quantitative analysis of sugar is carried out by which of the following equipment?

farafaf@a & & fora 39T GaRT AT T ATFTHS faRAYOT fohaT 1T 872

Refractometer

ReereIdieT

Brix or Balling Hydrometer

g ar Sfeler grssieeT

Polariscope

AreTRERIT

All of these

® |gaet & Tl

Answer Key: D

Q6 In Hepatic coma the diet given is:

Rafesh AT # AT STAarerr AER:

High protien

3T WIS (W)

Low protein

IGESRCICUIE]

High carbohydrate

3T FIElT (FIEEBT)

High protein, high calorie

D

39 Wiedlel , 3 $eily

Answer Key: C




Q7 Dolan, Dunovo,Trevira are the examples of:

Slefel Zelal Td fEaT 3eTexor &:

Registered trademark

IfoEes S3ATh

Quality Mark

FATTIET ATh

Brand names

EIEEE

None of these

ST W IS TG

Answer Key: B

Q8 Which of the following are the methods of work simplification?
: 1.Cycle graph

2. Chrono cycle graph

3. Pathway chart

4. Multichain chart

e & ¥ i O FRIEeoT S AT §2:
1. AShel ATH

2. FIArASH AMH

3. grd 9

4., FeCIA AIC

3and 4

3dur4

1and 3

1qur3

1and 2

1 qur2

D|1and 4




1dar4

Answer Key: B

Q9 The brightness and dullness of colour is indicated by the following:
T T THE AT YA AT G@RT iR e 8

Hue

gg (aoT)

Value

sy ()

Intensity

Secfeder (iadn)

Shade

A3 (TN

Answer Key: C

Q10 "Swarna Jayanti Gram Swarozgar Yojna" commenced in which year?

WMWmmeamaﬁﬁ?m

1999

1999

2000

2000

1998

1998

1997

1997

Answer Key: A

"Cash book " is maintained for:




Q11 ey g q=TS Sl 8

Recording all goods sold on credit.

A | sume 3t ot 18 st creqatt v st T & fo

Recording cash receipt and payments.

ofate; TG T AT T oI@T-SidT W=t & ford|

Recording transactions for which no specific book is maintained.

3 d-¢oT T g W@ & fod, o g fodr 3= [afdrse fohde 7 a5 91— 87 |

Recording all purchases returned to suppliers.

Tl GUCET g3 TEA3T T TCRAIX T ATIH A T oG ST IGA ]|

Answer Key: B

Q12 While building house,"footing" for a wall is known as:
TR §ATd HAY SR &I IR ($FEIT) ST e &

Basement

SHHT

Foundation

P33T

Plinth beam

IESEIE

Flooring

AT

Answer Key: B

Q13 Which of the following is the correct ascending order with refrences to the
percentage of water regain?

Tl st geT: Tt (RAveT) & gfcera & el & foest & & shleT a1 3RS o Tl 872

Nylon,Cotton,Silk,Acetate,Rayon

ATTele, dics, fBow, Whee, Wi |

B |Acetate,Rayon ,Nylon,Silk,Cotton




vfaee, Wi, AradlieT, Rew, e |

Nylon,Acetate,Rayon,Silk,Cotton

ArTelieT, Ufaee, Wi, o, e |

Nylon,Silk,Acetate,Rayon,Cotton

D [V U A2
ArTelieT, Res, TRAce, Wi, died |

Answer Key: C

Q14 Type of Rayon:
T i & YFR:

Cuprammonium

FIUTAATH

N

Aramid

INTAS

Spandex

WesFd

Alginate

i

Answer Key: A

Q15 Method of removing permanent hardness of water:

STeT T TUTAT HSRCAT T g XA T fafe:

Soda process

arer fafer

Clark's process

Folreh & fafer

By boiling

EEIGERS

D |None of these




ST FIS AET

Answer Key: A

Q16 Average diameter of the cotton fiber:
HUTH & I3 T IET a4

11-22 microns

11-22 #ABHIA

23-34 microns

23-34 ASHIA

35-46 microns

35-46 HASHIsT

47-58 microns

47-58 HASHIA

Answer Key: A

Q17 Psychological reason for using clothes:

IET & 3UANT FHT HAAIIATTAh HIROT:

Satisfaction

gy

To look beautiful

Hied (e fegem)

Protection

JI&m
S

All of these

sost & s

Answer Key: D




Q18 Match the Piaget's stages of cognitive development (List -I) with the age (List-II).

List-1

List-11

(a)| Sensory motor period

7-11 years

(b)\ Pre-operational period

11 yearsandabove

(c)| Period of concrete operation

(d)| Period of formal operation

1
2
3 2 -7 years
4 0 - 2years

Codes :

TS T HeleAlcH e [aenrd i 3raen3il (I - 1) & A (T - 11) & o= Hifw|

T - | g -
() e IR sraw 1.7-11a¥
(@) 9d ARRIIcHS JHaeaT 2. 11 a7 sad s av
(31) T HiohATcHS JTaEAT 3.2 -7 a9
(7) TaRe dfbacas saer 4.0 - 2 ay
%
(a) (b) (c) (d)
2 4 3 1

®) @ @M @)
Z 4 3 7

(a) (b) (c) (d)

K 3 1 2
@) @) @M @)
4 3 1 2
(a) (b) (c)  (d)
3 1 .

@) @ (@@ @)
3 1 2, 4

(a) (b) () (d)
1 2 4 3

|

@) @ @M @)

2 3 3

Answer Key: B

According to Erickson psychosocial stage of early childhood is:




Q19 vRergeT & AR YR SToATTEAT I HATHTAISTh AT &

Trust v/s mistrust

A ICECIGECGIEA R ICEE| s )

Labour v/s inferiority

g S ar

Intimacy v/s isolation

giasadr 418 37eleg

Autonomy v/s shame

Tad=dr (3iTeIATeT) ST Aol

Answer Key: D

Q20 Which of the following is not a vaccine preventable disease ?

et 7 O HleT SRIHI0T GaRT VT SATAaTe W97 78T &2

Pertuisis
A e
Vericella
® | etrarer
Genital Warts
© |semseer artw
Juvenile Diabetes
| safaeee s (RreiRraaT @1 AEE)
Answer Key: D

Q21 According to "Guilford " which of the following is not the element of creativity?
TAToThis o 3TER e & @ el AT FolellcHhdl Hl ded el 67

Re-explanation of problem

W@rg?r:—qmc Z

B |Adjustment




rHTET

Association

Argddre

Changing the thoughts of the others

P 3t & Rt 3 aRads

Answer Key: C

Q22 Day dreaming is helpful in :
feareaeT (3 SifFT) T+ §:

Creative activities

TATcHS ST 7 |

Giving motivation

OO Y&l it H |

Reduces stress

JATd FH FL H|

All of these

FoTH | welY

Answer Key: D

Q23 Match the models of communication process (List -I)with the number of steps
involved (List-1I):
List | List Il
(a) Aristotle model 1. 5(Five)
(b) Kenneth Brouke Model 2. 6(six)
(c) Shammon waiver Model 3. 3 (three)
(d) Burlo model 4. 4 (four)

Codes:




AR Gishar & wred (R - 1) 1 gal & Je&dr (= - 11) & e Hifse
| - | T -

() UREcicer Alser 1. 5 (Tm)

(@) T g A=A 2. 6 ()

(1) T AR A 3. 3 ()

() St #Aisel 4. 4(@R)
%
(@ (b) (c) (d)
1 2 3 4
@) @ @M @)
1 Z 3 4
(@ (b) (c) (d)
|2 1 4 3
@) @ @M @)
2. Tt 4 3
(@) (b) (c) (d)
3 4 1 2
@) @ @M @)
3 4 1 2
(@ (b) (c) (d)
L4 3 2 1
@) (@ @m @)
4 3 2 i
Answer Key: C

Q24 Match the aspects of anti social behavior (List-I) with their causes (List-1I):

ListI List II
(a)Changes inself concepts 1. Antisocial behavior
(b) Changes in attitude 2. Social image
(c) Social mal adjustment 3. Endocrinal change

(d) Unfavorablereputation 4. Poor self concept
Codes:




AT faUEY g & TH (Y - 1) FI 3e7eh HROT (T - 1I) & Al Hifae
- | - i

() TaUROT A 9REA 1. AT el sgagR

(@) sfagfa & aRads 2. GAS® I

(1) T JmaARee 3. AaEEr 9Rade

(5) 3g9gera gidvor 4. T TIUROM (F93 P FHAAT 3HhaT)

(@) (b)) (o) (d)
A 3 L 2 4
) @ @@ @)
3 1 2 4
(@ (b)) (o (d)
2 4 3 1
B

@) @ (@M @)

2 4 3

(@) (b)) (o (d)
c 4 3 1 2

) @ @@ @)

4 3 1 2

(@ (b)) (o (d)
5 [ | 2 4 3

) @ (@M @)

| 2 4 3
Answer Key: C

Q25 The main emphasis of Non- formal education is on the following program:

o1 HRIhAT X AR RIST &7 A& o §:

Non formal education for non -school going children in the age group of 6-14 years

QITAT & STe dTel srel Tofetehl 3T 6-14 a¥ & HEY §, & T Jretqarie Rier

Non formal education for youth in the 15-25 years age group

gaT TSieTeht 387 15-25 ¥ & HEg § & v setamen R




Functional literary linked with development schemes

A TR & SET foharcas arardr

All of these

D

gt @ et

Answer Key: D

Q26 A proposition which can be put to determine its validity through statistics is
called:

a¢ qaEIT Torgeh! AT T GQ&T0T HTCIhT earT a5 FeheTl §:

Variable

W (ARATe)

Error

e (W)

Hypothesis

IR&eTaT (FIBurdfa)

Problem

P FHET (FTectH)

Answer Key: C

Q27 Match List-I with List-II

List1 List 1l
(Research methods) (Data collection tools)
(1) | Experimental Method (1) | Using primary & secondary source
(2) | Expost Facto method (2) | Questionnaire
(3) | Descriptive survey method (3) | Standardized test
(4) | Historical method (4) | Typical characteristics




gt - 11 g - 11 & e fifse)

et — | =t — I
(3regrene fafer) (GHE Gheld 3UFHTT)
(@) warmeTe fafy 1. gRIfA® wRr Efee wl o1 Suah B3|
(@) Pz o 2. gETEe!
(M) foo=emHe W O 3. AP IR TR

(=) sfogorere (Sftefe) fafr 4. fasy s

(A) (B (€ (D)

N
—
w
NS

Answer Key: B

Q28 To collect in-depth information from a large number of rural women the most
: appropriate method of data collection is:

TS FEAT A AT AGATIHT Y fAEI U TG STARRY A % FHd 31T FIUGOT hT HIH 3GG el
qeefd §:

Interview

TTETchR

B |Structured questionnaire




TEATehel TR (FEFUS FAAAI)

Open ended questionnaire

el FAY & FeATTell (39T VS5 FAHAAUI)

Mailed questionnaire

P CEN-CIRIECREGICE]]

Answer Key: A

Q29 Limitation of the use of Television :

gIe e & 3T Y WA

Students become passive observers

ST ATSHT e §o7 Y T|aT 2

Students do not participate in demonstrations

OIF YT & fRear a1gT o |

Deprives the student of seeing the actual apparatus

STl I ATEAe AT ol W@ ¥ dfT 3@ gl

All of these

Tofr gar

Answer Key: D

Q30 Select correct option from the following codes with context to assertions &
: reasons:
Assertion (A) Thread with 's' twist are majorly used in machine sewing
Reason (R) Thread with 'z' twist are not even ,so are not used in machine sewing

oA & I et A @ AfAFEU(37) TH FHROT (F) F Hed 7 AL TAhod T AT
3fFwYa (37)- '8 o (Rawe) are ameY SOeraR 7 R{ens & 3uaer & o S §1
HROT (F)- 'IZ" Tl dTel URT Teh AT (3aeT) o gt oh HROT F7LMA [ems 7 39T 7 =18
T ST Tt

Both A and R are incorrect

ST AR F AT &

B |Both A and R are correct




arr 31 AR & QT FE

A is correct and R is incorrect

IR F AT E

A is Incorrect and R is corrcet

P I IR F TG &

Answer Key: C

Q31 "Assignment " is based on the principles of

g w7 (3rarssee) faeeid 9X 3maid &

Learning by doing

HLh Jr@TAT

Learning by listening

oY TGt

Learning by reading

Jgh] TIEAT

Learning by familiarity

gfassdr (FfAARE) garT dr@er

Answer Key: A

Q32 A statement indicating standards to be achieved for a particular job is referred:

ey AT 1 T 7 Ured fFT S Tl ATCs! & AT e ATl HUF FglldT ot

Job description

F1 faaoT (e f3fEmeerT)

Job summary

FI HETIA (STTe FF)

Job Specification

F1 RAfAsdreon(Ste TafafthenerT)

D |Job analysis




FT fAYUT (ST TATTA )

Answer Key: A

Q33 Which organisation among the following is related to green building certification?

fArfaf@a # & Hler A dear M fofese aféfreree & dafaa 82

CSRI

. Ty, IR, A

NIOSH

TS, 38, 3. TH. T

MNRE

TH. U, 3R, §

LEED

Ploa. 5.5 &

Answer Key: D

Q34 Causes of Aids:
T3H & HRUT:

Parasite

qLSiar

Bacteria

Saror

S

Virus

fawro (arRa)

Fungus

e ()

Answer Key: C




Q35 Select correct option from the following codes with context to assertions &
: reasons:
Assertion (A) : Newspaper is a print media .It is one of the mass media
Reason (R) : All mass media are print media .

A 18 I et A § A’ HFeU(3N) T HNOT (F) & Hedl A AT [dehed T T
HAPYA(3T) : HATIR T Teh HGUT ALIH g Ig TR AEIH A § U ¢
HROT () Tl HOR ATEIH 0T ATEIH il &

Both A and R are true

arer (37) 3R () FE &

Both A and R are false

arer (37) 3R () T B

A is true but R is false

(37) T 3 () 17 &

A is false but R is true

(31) el 3R (F) FET &

Answer Key: C

Q36 Factors resisting social chang:

FTATSS Jeod & A ded:

Attitude

T3 (TEN)

Social Values

AT Hod

Religious Inclination

eTiHeh el

All of these

Tofr Iar

Answer Key: D

Quota sampling ,purposive sampling and systematic sampling are the types of:




Q37 et gufeler, Heged duferer vd sxafeua dufasr g &:

Simple random Sampling

A

Wl Arefeos Jo1 g3 (River {sd dafcir)

Non- probability Sampling

I Ferfaa dufcier (At srafafardr Haferer)

Stratified Random Sampling

Tl Jfaafad o 1 9o (FfRewrss & dufdn)

None of these

$TH PG QT

Answer Key: B

Q38 The technical Procedure by which data is categorized:

g cIehailich Tafer ToTeeh SaRT HHeh gafiepe fohd ST 8

Ratio

3eqaTed

S

Interpretation

qredr

Coding

% Hehelol

All of these

Tofr Iar

Answer Key: C

Q39 Arrange the following steps of research in correct sequence.
* I- Rationale

II-interpretation

ITI-result

IV-Review Of litreture

V-Objectives

VI- Methodology




AMer & TAFATATET UGl A FET oA H Fafeyd W |
I- 3iifeeT wu9e

IT -sgrean

I -gRumH

IV -q1feed T GopTdeilehet

V -386T

VI -wfafer

1,1V, VI, III, V, II

1,1V, VI, III, V, II

vV, I, V, II, VI, III

v, 1, V, II, VI, III

I,V, 1V, VI, III, I

I,V, 1V, VI, III, I

IV, V, VI, I, II, III

IV, V, VI, I, II, III

Answer Key: C

Q40 The factors jeopardising external validity are:

SEY JEUAT & @A H STefeidlel € o

The reactive effect of testing

qreqot ot gfafshareiier gama

The Interaction effect of selection

TIA T IIREIRS THT

Reactive effects of experimental engagements

g gaul &1 gfafsareie g

All of these

Tl @r g

Answer Key: D

Number of food groups suggested by I.C.M.R in their food group system:




Q41 1S, 4. UH. 3R CarT G 91 HIsT FaHg TUTell H e THE & TET ¢

A

Nine

st

Eleven

ARG

Five

D

Three

GG

Answer Key: C

Q42 Soyabean protein is deficient of the following amino acid:

TS & WéT H AFATA@d 31T el T FHaA g

Arginine

3SiffeeT

Methionine

At

Tyrosine

TR

D

None of these

$TH W IS A

Answer Key: B

Q43 Vegans are at risk of being deficient in:

UTHRRIRGT (A9TH) H 3T HiAAT & WK &:

Folate,Protein, and Carbohydrates.

Floie, WA, HElgsse

Calcium,Iron, and Vitamine Be




Fiod, 3, Jerfaa s

Vitamine Bi2,iron, and calcium

@ a2, 3R, Ffevd

Iron, Protein, and calcium

D
3R, e, SHiorrre

Answer Key: C

Q44 Pulses are used in various receipes of Indian cooking because:

TR TS F AR TSTAT 7 STell T IUANIT FohT JATAT & Fifh:

They are rich in protein and vitamine Be

I 9T Ud faerfad dle # d9eT §

They improve the quality of cereal products

A JUTIET o ScUTel S I0TadT Seld &

They give satiety due to high protein and fiber.

3T AT H NET AT AT T gofg ¥ TR & 8 |

All of these

goret & Tl

Answer Key: D

Q45 [schemic heart disease may be manifested as:

s EhfA® gcg Wit AT A TFT & FHhaT &

Sudden Death

Tl A
[}

Angina Pectoris

3eollSaT IR

Myocardial Infarction

ARSI SoBIFAA

D |All of these




ST o Tl

Answer Key: D

Q46 Which of the following statement is true?

e 7 @ Pl a1 FaT Ter g2

Management is limited to the leadership of the groups.

Yt THE & Aded s QA gl

Management is an end in itself.

Y 379eY 3T 7 (ScHeh) Tah 3id &1

Good managers are not born but trained.

TS YIHF STl A Al a¥e] ITAET0T H oid g

All of these

ool W @

Answer Key: C

Q47 Reason for poor conditions of rural primary schools:

ITAOT &73T T YT A ATATHT hr WIS AT T HROT:

Disinterest of parents.

TR I &I

Lack of liking towards job by teachers.

Tr8TehT T 319 TSI & UT of¥TTa T JTHT

Teachers Assigned Multiferious Assignments.

f%‘raﬂa#afragaﬁzhtra:rérﬁmamﬂ

All of these

gorst & e

Answer Key: D




Q48 Principles of design does not include:

T ¥ el 3 afEATd 78 A &

Colour

T

Rhythm

ol

Radiation

fafertor

Repeat

D

e a

Answer Key: A

Q49 Spandex is a:

T34 §:

Water proof

STeT3TaR el

Flame retardant

SaToll #Ach

Creases resistance

Berae gfare

Elastomeric

D

SATECIHARS

Answer Key: D

Q50 Which instrument is used to measure strength of the fabric?
TET T AT BT AT & T hleT HT ITSHOT 3UANT 3 1T 8 ?

Tensile tester

THATSA TR

B |Flexometer




TeleFHIHTET

Torque

(ET

Geometric Shape

D
STATAT 3R

Answer Key: A

Q51 Which one of the following is a human resource?

o 7 & Pl A1 ATIRT AT §?

Item

d&d

Pl

Money

ST

9

Time

AT

Aptitude

FfHeTHar

Answer Key: D

Q52 Which one of the following is not the method of child study ?
T 7 § i OY 91T - 3¢ 1 [T 87 872

Simple or uncontrolled observation method

T 37yar faafEa Aderor [/t

Systematic or controlled observation method.

=gafeya 3rar Aafa Hderor [fer

Participatory observation method.

Tgaeh AdeTor A

D |Systematic Method




sAeee fafer

Answer Key: D

Q53 Physical development follows which of the following specific direction?

AR e feaifafEa & & fone fafrse fear ar 3reTavor edr 82

Cephalo caudal direction

Atheiieise (R & ) sRRERE

Proximo distal direction

viferetAl fSEee (FHT & g) SRNRN

In both Cephalo caudal and Proximo distal directions

AR elierisol SRR 3T UifaotAl f2¥ed SRaRreT Sl feem &

None of these

T A PG TG

Answer Key: C

Q54 Which of the following ancient scientist used systematic biographic method of
child study for the first time?

foFsT & @ g grdiet deTicleh o Sl 3TETTA g FATUH hAaee IRTel@e fafer 1 suher
Rar?

Withelm Prayer

[ERERCRY

K.C.Moore

R

D.R. Major

3.3, AR

Rousseau

4T

Answer Key: A




Q55 Activities of UNICEF in india:
o i $1Re 3 aTfAfafeEr:

Eradication of Malaria

HART T 3o oele

Control Of Tuberculosis

&7 9T W TAg=oT

Production of penicilin

CIGIGEIGE RG]

All of these

gotd O @t

Answer Key: D

Q56 Characteristics of the Non- Formal Education :

3rAtaaen fRueT & ot

Need centered

3TTTLTSHdT higed

Not fully and formally institutionalised

quid: 3ienies Ferarfear = gler

Systematic but not routinised

HThw b HART

All of these

Ty ger

Answer Key: D

Q57 The most effective broadcasting media :
HaTTIeh THTGRATC TEROT ST ATETH :

A |Film




ECICE]

Theatre

.

Poster

qEeX

Lecture

D
e

Answer Key: A

Q58 "AKIS" stands for
T, &3S, TH. T 07 &9

Akhil Kisan Integrated society

Qe frae géEes AR

Agriculture Knowledge information system

TafiehoT Alelol ST {TeH

Application Of knowledge in International sector

UTCeTheleT 31T FATelol 3T Seaieledel AFel

None of these

SoTd & IS TGN

Answer Key: B

Q59 Characteristics of good sample:

3= YfaeeT &1 3w :

Making Research more practical

QMer T 3P cTagIRe TATel

High level of reliability

3= T faegafaaar

C |Saving of money,energy and time




Hal, 31, GAY T T

All of these

D

Tofr Iar

Answer Key: D

Q60 Carbohydrates can be defined as:-
Freafer yeraf & aRena forar s gar & :

Aldehyde derivatives of higher aliphatic acid

gRR Telihfesh Tfls & Ulesglss ogcded

Ketone derivatives of higher aliphatic acid

BN Tl UfAS & el cgcdest

Aldehyde and Ketone derivatives of higher polyhydric alcohols

IR WiclgIigeh 3Toehigel & UlesgIss Ud shiele egctee

None of these

ST A IS TN

Answer Key: C

Q61 Which of the following bacteria produces toxic substance in food?

AT & O P ¥ JFORAT Mo A R_uTa 921 IcuesT aa &2

Clostridium Botulinum

FAHSIH dicgfaeTd

Staphylococcus Aureus

e fheeind HiRad

Bacillus cereus

ST amw

All of these

T ger

Answer Key: D




Q62 Match the term in List -I with their definition in list -II

List -1 List-11
I Chop 1. To cut into small uniform cubes
Il Slice 2. To chop veryfine
Il Dice 3. To cut into specified shape
IV Mince 4. To cut into uniformslices
T - 1 3 & 9T To T8 & gaT - 11 3 & 7% 3e7eht aRe & fAersd|
T - -
() arT 1. B THT GAHER & Fe
(@) Temsg 2. 9gd HGIA FICaAT
(1) =z=dE 3. B WRad 3R A 7 Fear
(m) @F=a 4. UHET THsl A Fleal
%c:
| I 1] \Y)
2 3 4 1

| Il ]| v

4 1 2 3
B

@ @ @) @

4 1 a X

| ] ] v

3 4 1 2
C

@) @ @@ @

3 4 1 2

| ] 1] v

1 2 3 4
D

@ @ o @




Answer Key: C

Q63 Select correct options from the following codes with context to assertions &

reasons:
Assertion A): Daily food guide does not apply to infant feeding.

Reason (R): Breast feeding to an infant must be continued till the age of 2 years
Codes

A ST 91T et & & 31fFheq (31) Ud HROT () & HGT H FEI [dehod ol Tl
HiFRYA(37): RAY & HER & 3ol s M3 (SfAeh HIsT AFTCGIRHT) TFerel ET Biell |
HROT () TAY &I T a¥ T 37 Teh Tl AT ST =AMMe L |

T

A

Both (A) and (R) are true.

(31) IR (F) = TEE

Both (A) and (R) are false.

(37) 3R (&) S T B

(A) is true But (R) is false

(37) e T () TeicT B

D

(A) is false but (R) is true

(31) 31T 3R () HE B

Answer Key: A

Q64 Select correct options from the following codes with context to assertions &

reasons.
Assertion (A): Food quality can be evaluated by sensory and objective methods
Reason(R):Quality is the ultimate criterion of the desirability of any food product
Codes

o R 1w et o & AT (31) Ta HROT (F) F Feot 7 e fAwed &1 a9 W

HIFRUA(37): HISTA T TUTET T Hediehed FEY T HTeolfered ATRGT & g1 Fehell &
HROT (): fohdl ol 81 Scure T g&es i &l TH HHEIET SHhT 0T B
C I

N

(A) and (R) are not related statement

(31) 3R () GIfT FUT 87 &1




(A) and (R) are partially related statement

(31) 3R () 3AF T T GEfAT FI= £

(A) and (R) are fully related statement

(31) 3R (&) qUId: HETIT U |

(A) and (R) are incorrect statement

D

(31) 3R (F) e HYUA & 8|

Answer Key: C

Q65 Match the scientist (List-I) with their definition of management (List-II):

List | List 1l
A Gross and Crandall 1 |Art of getting things done through people
B Nickel and Dorsey 2 |lt means control and control mean action
C L.C. Hart 3 |A planned activity towards the accomplished of desire goals
D Mary Parker Follet 4 |Consists of series of decision making process of using
resource to achieve goal
Code:

detiarenl (- 1) T 3eTeht 98 JeereT shr aReTT (T - 11) & Ao hifae:

= - |

() I1F TF HseT

LI
1. SOTFTAT B FH DIdlel Dl Dt |

(@) AT v =t 2. SHeRT areqy fag=or 3y Sa=or
FT T FIIETEr |
(1) TerELEE 3. geoa wed f wtd 2q glaafaa e

@) AY, I BT

4. F&T TIfCq 3, HETGAT & 3T
&1 AT o Fr gmEeree gk Afga 2

ET
A B C D
2 1 3
1@ @ @M @
2 1 4 3
A B D
B 3 2 4




F) (@ @M @
3 2 1 4
A B C
a4 3 2 1
‘@ @ @M @
4 3 2. 4
B C D
1 4 3 2
@ @ @M @
1 4 3 2
Answer Key: C

Q66 Select correct options from the following codes with context to assertions &

reasons

Assertion (A) Invoice is a document that comes with supplies
Reason (R) cash payment has to be made on the basis of invoice
Code:

A R 1w et 3 & AT (31) Td HROT (F) F Feot 7 e [Awed F1 a9

HIHFUA(3T): SAAISH Ueh GEATAS & i AT T 3T & AT AT §
HROT (F): Seaisd & HUR W a1 ATl [T ST &
He:

a

(A) and (R) is true

(31) IR (F) a1 FEE

(A) and (R) is false

(31) 3R (F) AT &

(R) is true,(A) is false

(%) |E & fheT (37) o1 B

(A) is true,(R) is false

P (37) TEY & JfreT () e B

Answer Key: A




Q67 Match the stages of fashion cycle (List I) With their Characteristics (List-1I)

List 1 List 1l
A Rise 1 |when boredom sets in fashion
B Decline 2 |Atits height of Popularity and use
C Culmination 3 | ltcan no longer be sold
D Obsolescence 4 |When the new original style is accepted by
an increased number of people
Code:
thereT Arsfeher & faffies TRoT (R - 1) & SoTeht TAATA3T (IR - 1) 1 el e
T - -
(%) oI 1. e § S9 3grdiaar o S
(@) 39T 2. YT SARYIdT TG 39T Hr 398
(31) TRTRISST 3. 3ger 3R 3fF foFT 7 g g&ar
(&) 3rrEferd 4. St 1 SgaTIT HEA # 7§ Aqo
et &1 rfAEdsia sa Ao 8
&
B C D
1 2 3 4
A
&) @) 0 (3
1 2 3 4
B C D
2 3 4 1
B
(@) @) N @)
2 3 4 1
A B C D
4 1 2 3

@) @ @ @)
4 1 2 3




A B C D
3 4 1 2

"l@ @ (M (@)
3 4 1 2

Answer Key: B

Q68 Which method is used to measure the crystalline property of polymers?

TielleRy $r foheeTenssT 0T HIYT T i O fafer 872

X- RAY diffraction method

TFg-Y faadsr Afyr (Rwiwere faf)

Acid dissolving method

3T faomas 3fer

Alkali Dissolving Method

&R faomras fafer

By burning

D
Sacle GaRT

Answer Key: A

Q69 Match the fabric (List-I) with manufacturing method (List-II)

List | List 1l
A Woven Fabric 1 | Made from fleece of the sheep
B Non-woven Fabric 2 [Made from cocoon
& Silk fabric 3 | Made by pressing the fiber together
D Wool fabric 4 |Made by weaving the yarn

Codes:




aEF (I - 1) dur 37 [FaATor & fafer (& - 1) & A fifsw)

- | T -
(&) §ATS aTel T 1. 83 & W F Far
(@) foar g8 & T 2. FhA ¥ T
(1) A FHT FHUST 3. dg3l W Tk HIY- ad 3ol FATedl
() Fel 4. UTelt I eI SATAT IAT
%e:
A B C D
2 1 4 3

(®) @) ¢n @)
2 1 4 3

B C D
3 2 1 4

(®) @& (N @)
3 2 T A

A B C D
4 3 2 1

() (@ @M ®&)
4 3 2 A

A B C
1 4 3 2

(®) @ ¢ @)
i 4 3 2

Answer Key: C

Q70 According to the Gross and Candall important steps in decision making process:-

AT Td h5el o AR @0 olet & gishar & Hgca ol Ue §:

A |Defining the problems to be decided




FaEar fSger Aot foRm ST § 38 arieni™a 3|

Seeking alternative solutions

depTedsh GHATHTT dTgT

Accepting responsibilities for decision

AT T 3atERIca TSR

All of these

Ty ger

Answer Key: D

Q71 Match the following elements of arts (List-1) with their examples (List-II)

List|1 List 1l
A Pattern 1 |Spongy
B Texture 2 |Pentagonal
C Shape 3 |Oblique
D Line 4 |Geometrical
Code:

AT shell & dea (FET 1) T 3eTeh 3aTeX0T (T 1) § AT Hfae

- = - 1

() T 1. w9t
(@) TFET () 2. 9T
(3M) AHTRIT 3. foedr
(=) @r 4. SofAST
He:
A B D
1 2 3 4
A
@ @ @@ @)
1 2 3 4
B C D
2 3 4 1
B

@) @ @ @

2 3 4 1




A B c D
a 1 2 3
c
@) @) (@ @)
4 1 2 i3
A B c D
3 4 1 2

@) @ (™ @)

3 4 1 2

Answer Key: C

Q72 Match the following principles of arts (List-1) with their examples (List-II)

List1
A Rhythm
B Balance
C Harmony
D Emphasis
Code:

B ow N e

Listll
Harmony in ideas
Contrasting lines
Informal
Through the repetition of shapes

frfaf@d war & fguid (g2t 1) &1 3% 3T (gt 1) & fHems fifse

=T - 1

=T - 0

(F) & 1. o=t & grass
(@) Fgor 2. 9l @
(1) WHSIEI(ERHAIA) 3. HATATRE
(7) SR (TR EH) 4. {HR Fr T @R
&
B C D
3 2 4 1
) @ @@
¥y 2 4 1
B A B C D
2 1 3 4




(®) @& @M @)
2 X 3 4

B C D
1 < 2 3

(®) @) @ ®&)
1 4 2 3

A B
4 3 1 2

(%) (@) ¢ @)
4 3 1 2

Answer Key: D

Q73 Which of the following approaches are used for the study of problems related to
child development ?
i Cross section
ii Longitudinal
iii Transverse
iv None of these
Codes

o fehrd @ Heftid FHEAHT & AT g et 7 @ hleT &7 TfoeehIoT Ir9eTrar S g2
() e HereleTer

(@) emnfiegisae

(31) gisrad

(%) S & IS 8 =TEh|

%c:

[N

IITI and IV

T3k T

II and III

g3k

IandII

F3IRG

D |I and III




& AR

Answer Key: C

Q74 Select correct options from the following codes with context to assertions &
: reasons
Assertion (A):Love,Nearness,Physical contact ,Cuddling are the factors for the
image of a happy face of the child
Reason (R):This is an expression by fondling, Touching,Warmth, Stroking ,sound
of a pleasant voice
Codes

A1 f&T 10 et H & 3HHhoT (31) U HROT (F) & At H Y fashod &1 a3
TR (37): STefeh & GAFHT YY1 IFA & FReh R, FA, MR Tk, el
G B

HROT (F): GRAHAT JATATST I eael GHeleT caferd I T, THGeE, YIYAT & @RI
AT B

Fe:

N

Both 'A' and 'R' are not true

(31) IR (F) &= T A &

Both 'A' and 'R' are true

(37) 3R (%) a1 T E

'A' is true but 'R' is not true

37) T § v () T 7T €

'A" is not true but 'R' is true

(37) T e § TR () T €

Answer Key: B

Q75 Match the following international organization (List I) with the year of its
foundation (List II)




B
C

Code:

List |1
U.N.I.C.E.F
F.A.O
W.H.O

BN e

List I
1945
1948
1946
1950

frafaf@d seifea derest (G2 1) &1 3% T & a¥ (g 1) & e fifae

(%)
(@)

(31) Seeg UL

adr - |
T D
U T3,

adr - 1l
1. 1945
2. 1948
3. 1946
4. 1950

1

() (@) (@)

2 3

A
3

B
1

3

() (@) (@

1 2

2

B
3

=) (
2

@) (M
3 1

A
4

B
2

4

(%) (@) (@

2 1

Answer Ke

y: B




Q76 Which of the following are the important components of communication
: I.source

ii.sender

iii.Reciever

iv.-The media

Code

o & & i § TR & AcaquT veeh g2

&, Tid

g. 96

3T, YTCehdr

g, ATEIH

9

[N

I, II and III

%, @ U A

II, IIT and IV

g, Ty

ITI, IVand I

T, UG &H

IV, I and II

U600y

Answer Key: A

Q77 Select correct options from the following codes with context to assertions &
reasons

Assertion (A)- Modern life is incomplete without television
Reason (R)-People are not benefitted by advertisement
Code

A 1T 91T et A & 31fFeheq (31) U HROT () & e H Tl fdehod ol Tl

AR (37): ITeYAR SNl Tellfdotet & =T 37ERT &
HROT(F): faAIet garT dier emsfead w81 gl &
Fc:

[N

A ['A' is true but 'R' is false




37) w1 € forg (&) @eér 1€t €

'A' is False but 'R' is True

(37) TEr 1T § TR () @ €

'A' and 'R' both are True

(37) 3R (F) &= T

D

'A' and 'R' both are false

(31) 3R () St | =T8T 81

Answer Key: A

Q78 Match the method in (List-I) with application in (List -II)
: |

List
A Scientific Method 1 One group study
B Case Study 2  Suitable technique of data collection
C RotatingDrum Method 3 Random sampling
4

Listll

D Interview For valid generalization
Code:
faferat &1 (T - 1) T 3w (G - 11) &7 fere R

o - SCURl

(%) dani=ie fafear 1. U THE 3T
(@) <afed regdel 2. THE THABIOT &l IUYFd depeileh
(an) WefEarsH [/ 3. gefos gfdqger
(1) HMETIchR 4. 9T FEAAHOT gl
He:

A B C D

3 2 1 4

(®) @ @M @)
3 2 1 4

A B C
2 3 4 1

(%) @) ¢ @)
i 3 4 1




A B C
4 1 3 2

®) @) ¢n @&
¥ 1, & 2

A B C
1 4 2 3
@ @) @M @)
1 4 Z 3

Answer Key: C

Q79 Select correct options from the following codes with context to assertions &
: reasons
Assertion (A)- The research report should mention size of the sample
Reason (R)- The purpose of research report is not to use it in public
Code:

A f3T 91T et # & 31fFheq (31) Ud HROT () & HGT H FEI fdehod ol Tl
HfAFRYA (37): M gfddes 7 Ifdgel 1 AR el f&d glelT AT

FROT (F): MY UfAAGH T 36T SAA-THT H 3 3TN H AT el 8

e

[N

'A' and 'R' both are true

(37) 3R (&) a1 T &

'A' and 'R' both are false

(37) 3R (&) ¥ T &

'A' is true but 'R' is false

(37) e T () TercT B

'A' is false but 'R' is true

D

(37) Teldl o () @& €

Answer Key: C




Q80 Match the statement in (List-I) with the statement in (List -II)

List 1 List Il
A Experimental Research 1 | Representation of universe
B Base of research process 2 |Analogy
C Source of hypothesis 3 | Scientific thinking
D Characteristic of good sample | 4 |Research Intends to answer "what"
Code:
(g - 1) T (= - 11) & SUat &1 (A S|
SCUE g -
(@) RS SeTHee 1. srgis & gfafafac
(@) 3ieTEer IiRaT FT IR 2. 3TET
(1) IRFTAT T T 3. dafae o
(@) 3 9fdgel & apor 4. ATHT"FAT" F ek Tl
%<
A B C D
3 4 1 2

() @) @ @&
3 4 1 2

A B C D
2 1 4 3

() (&) @ ®&)
2 1 a4 ¢

A B C D
4 3 2 1

(®) @) ¢n @)
4 3 2 1

A B C
1 2 3 4

o

°l(®) (@) @G @)
1 2 3 4

Answer Key: C




Q8

1 Select correct option from the following codes with context to assertions &
reasons
Assertion (A): Nutrition educator must inform the communities that green part of
the sprouting potatoes should not be consumed
Reason (R): When potatoes are stored in bright light significant amount of
solanine is produced in the skin which is evidenced by greening
Code

A 18 I et A § AH{HFeU(3) T HROT (F) & Hedl A HET [dehed T T |
HHRYA(37): AT RA&Th P FHETT T SATASRY el TRV foh 3HI0T arer 3o T g0 fowam
39T F AT =TT AR

SHROT (F): ST 3Te] el Tehrer H Fafed fhd ST § o fveleh W W Ieat@ely AT 7
Arlfdel 3cdest I 81 TTHHT & W1 3o glaAT THTT &

Fe:

a

Both 'A' and 'R' are incorrect

(37) 3R (&) ¥t T &

Both 'A' and 'R' are correct

(37) AR (F) A=t T

'A" is correct but R is incorrect

(37) e T (F) TercT B

A is incorrect but R is correct

(37) 9ot Tohq () @ &

An

swer Key: B

Q82 Select correct option from the following codes with context to assertions &

reasons

Assertion (A):Females are 8 times more at a risk of getting osteoporosis than the
males

Reason (R). in post menopausal women, the balance of calcium reabsorption and
its formation is disturbed

Codes

A &8 I et A § AH{HFeU(3) T HNOT (F) & Hedl A HET [dehed T T Y|
HFRY (31): TEWT T 31967 AfGHT F HEAIRTAT &Y T S AT GART FET B
HROT (&) : TG aTell ATGTIT 7 HoUTH HT GAENT0T T 8 FHATOT H Fore 9T




ST &
%c:

[N

'A' and 'R' both are correct

(37) 3R (%) a1 T €

'A' and 'R ' both are incorrect

37) 3R (F) g1t I &

'A" is correct but 'R' is incorrect

37) @Y foh] () ITeret B

'A' is incorrect but 'R' is correct

37) Tl fhq (F) FEY §

Answer Key: A

Q83 Which of the following law governs food service establishments?
: i.Labour law

ii.Working Conditions

iii.Welfare provisions

iv .Health and safety

v. Education System

Codes:

foresT 3 O et @ Frls1/ AT et Aar TEAEAT & FAIRT e 82
1 33 T

2 FriEge $r akfeufaat

3 FHeAT0T AlSTeTTd

4 TATEY T GIET

5 fRu81r gorelr

I, 11, III and IV

1,2,3,0d4

II, III, IV and v

2,3,41Td5

11,1V, V and II

3,4,5Tq 2

IV, V, I and III

4,5, 1133




Answer Key: A

Q84 Match the dimensions of social development: (List I) with their meaning (List II)

List | List 1l
A Social maturity 1 |Social acceptance
B Social conformity 2 |[Maturity of values,attitude and behaviour
C Social adjustment [ 3 |Management help & co-operation
D Social interaction 4 [Behaviour according to norms and ideals
Code:
wATfare faerd & it 3mar (= - 1) &1 3% 3 (I - 1) § FHers & | A
- -
() FEIfoi aRYeEadr 1. Gt Edispid
(@) @S FeAfd 2. HAear $ aRueraar, 31fiadr td TaER
(1) IS FAR—ISTT 3. e, #Agg Ud dgaldr
() GHTfSteh 3id:fear 4. 3Gel U ARIGUS FTAR TagR
&
A B C D
3 1 2 4
A
(®) @) ¢n @)
3 1 2 4
B C D
2 4 1 3
B
() @) @1 @)
2 4 1 3
A B C D
1 3 4 2
‘i@ @ @m @
1 3 4 2
A B C
D
4 2 3 1




() (@) @M ®&@)
£ 2 3 4

Answer Key: A

Q85 Which of the following are the causes of Juvenile Delinquency ?
I.Hereditary Factors
II.Socio Economic Factors
III.Serious aspects of anti social behavior
IV.Physical characteristics
Codes:

T 39T &, [T § & i F FROT §?
1 eATIsh A FRb

2 grAfoe 3fdd RS

3 TS At sgaeR & iR Oz

4 IR faQryant

He:

N

I, I and III

1,2,Td 3

ILIIT and IV

2,3,Td4

III,IV and I

3,4,w1l

I,II and IV

1,2, 1d 4

Answer Key: A




Q86 Match the fibers (List -I) with their properties (List -1I)

List | List 1l
A Wool fiber 1 [Stronger in dry condition
B Rayon 2 |Good conductor of heat
C Cotton 3 |Strongest natural fiber
D Silk 4 [Highest elasticity
Code:
A3 (FE - 1) & | 3eTeh 0T (I - 11) & fAem S|
- | -
() 3T FT dd 1. S faeAT H Astgd
(@) Wist 2. 3SAT & A HAlgh
(31) FiesT 3. T9H A Tpided 2
() X2 4. 3=gaA T@ga(geniefad)
%c:
A B C
1 2 3

(®) @& (N @)
4 1 2 3

A B C D
1 2 3 4

(®) @& @M @)
1 2 3ead

C
2 3 < 1

() (@ @ ®&
2 3 4 4

A B C D
3 - 1 2

() @) n @)
3 4 T 2

Answer Key: A




Q87 Select correct options from the following codes with context to assertions &

reasons

Assertion (A)- chickankari is practiced on all imaginable garment made for males
,females kids and even on running material

Reason (R)- Famous designers Ritu Kumar ,Hemant Trivedi Anita Dongre works
with embroidery of Uttar Pradesh

Codes:

A fET 91T et & & 31fFheq (31) Ud HROT () & e H FEI fdehod ol Tl
3ifeRee (37): Ry q&u, Afgars, seat & #@sft Howeia gt 3R Ig7 a& & e
TR $1 SgFT Y S &

hROT (): FHAEe BeirsR R FAR, g AL, 3Helar SR 3oR Jeer i HeMerwry & ary
HTH B 8

Fe:

a

Both 'A' and 'R' are incorrect

(37) 3R (%) = Terd El

Both 'A' and 'R' are correct

(31) IR (F) = T

'A" is not correct but 'R' is correct

(37) Teidl o () @Y &1

'A" is correct but R is incorrect

(37) FE forq () TTercT &

An

swer Key: B

Q88 Select correct options from the following codes with context to assertions &

reasons

Assertion (A) - Tear and Trapezoid tests are used to find out the strength of fabric
Reason (R) - To measure the breaking strength of fabric there are three main
tests i.e Grab, Raveled strip and cut strip test

Code

A f3T 91T et # ¥ 31fFFeT (31) U FROT (F) & e 7 FEI fdehod ol T

HTAHYA (37): TET HT AT W & [T AT Tee Ta Lulaiiss e (T8T0T) 39T A
Y ST




FHROT (): TEF A AT (a1 Fa2) &l A & AT Feg et adefor S 7,33 e
Td she e adietor §|

A and R are not Related

(37) T () FeftT LT §

A and R are Related

(37) 2T () T §

A is correct and R is incorrect

(37) TE fohq () TTercT €

D

A is incorrect and R is correct

(31) et o] () WY B

Answer Key: A

Q89 Select correct options from the following codes with context to assertions &

reasons:
Assertions (A): Sellers cheat consumers.
Reason(R): Consumer are not aware of their rights
Code:

o R 1w et 3 & AT (31) Ta HROT (F) F FeoT 7 G [Awed F1 a9 W
31T AT (37): fashar 39ierar T eiET &ar &

FROT (F): IYHFT 39 JASPR F 3ATHA B

e

[N

Both 'A' and 'R' are not related

(31) 3R (F) =T TEfoT 8T

Both 'A' and 'R' are related

(31) 3R (F) = TafRa gl

'A' is true But 'R' is false

(37) |E forq () it €

D

'A' is false but 'R' is true

(37) 1ot TR () TET &

Answer Key: B




Q90 Respiratory Quotient (R.Q) falls in all the following conditions except:
foeT aRTEufaat & & fhas [arr 3=g @3l & @8 39T e &1 il 8-

Acidosis

Febrile Conditions

aR #1 *eufa

Diabetes mellitus

HAYAT

S

Starvation

E eapana)

9

Answer Key: B

Q91 Which of the following sequence is followed for group guidance?
: I.Orientation talk

II.Follow up studies

ITI. Interview with child

IV.Collection of data from family

Codes

foret 7 & et 1 37Tsh A THE WA o [T AreleT T STl &2
1 3eHEeRoT 7=

2 AT 3ETTeT

3 dTelsh & HTY HI&TTchR

4 9RER & THPI &I ThATI

Fe:

a

111, I1, I, IV

3,2,1T54

II, I, 1V, III

2,1,41d3

1,1V, III, II

1,4,31Tgd2

v, 111, 11, I

4,3,215 1




Answer Key: C

Q92 Select correct options from the following codes with context to assertions &

: reasons.
Assertions (A): Community Development programmes started after independence
Reasons(R): Community Development Programme aims at self reliant and rural
development
Code:
A fET 91T et & & 31fFheq (31) Ud HROT () & T H FEI fdehod ol Tl L
HTFRYT (37): AT G HRIHH TIATAT & T TR gul
HRUT () : HHCTAS [dh HRIHH I 36T Fa3delFae Td FHT I &

&c:

N

Both 'A' and 'R' are true

(37) 3R () A= T

Both 'A' and 'R' are false

(37) 3R (%) = Terd §l

'A' is true but 'R' is false

(37) e T () TeicT B

'A' is false but 'R' is true

(37) 9o Tohq () @ &

Answer Key: A

Q93 Increases in case of fever:

SR &1 Fufa &7 9¢ A1 §:

DMR

3T, TH. 3.

BMR

s TH. 3R

ICMR

3. 9. TH. 3R

D |FCR




U%, 4. 31R.

Answer Key: B

Q94 The best source of omega-3 Fatty Acid is:
3NHAIM-3 THT 3o T Falad T &

ag

Apple

GHR ()

Yeast

ST

Fish

Y T ISR

Milk powder

Answer Key: C

Q95 "Sujani" is a specicality of :

"Gt TARATAT B

Uttar Pradesh

3T e Qr

Bihar

IEFIEY

Karnataka

Fallch

Odisha

D

anfear

Answer Key: B




Q96 Which of the following is/are Non-projected audio-visual aids?

fAfafad & & Sla/lad 3veius (Aid-Nodes) TT-HTeT ATerT 82

Puppets

Foudell

S

Drama

olceh

Folk songs and folk dances

SRl T ellehaicd

All of these

T ggr

Answer Key: D

Q97 Full form of STEP is:
"EY(STEP)' &7 faEgd &9 8

Satellite Telecommunication Experiments Project

eelse ey iaheie TFaIRHAT Hislde

Satellite Telecommunication Experiments Programme

Aearse fasrgiashere taauRAT S

Satellite Telephonic Experiments Programme

Fearse fomifas teauRee gemT

Satellite Telecommunication Experience Project

eelse Sfoeheghele TFaIRIH Helde

Answer Key: D

Q98 Research Scale should be:
ITHT o Tehel T glell TRV

Objective

forsgeT (3Meaifaeq)

B |Valid




AT (Afeis)

Reliable

reaasira (Remaser)

All of these

D

T Tgr

An

swer Key: D

Q99 Mostly the data of the experimental research are:

AT & § FAETcHS YT H o (SeT) BIell 8

Qualitative

I[0TcHD

S

Quantitative

gR&ATOTcHS

Qualitative as well as Quantitative

IOTcHS d IRATTHS

Creative

HolddlcHen

C

An

swer Key: B

Q100 Which of the following is a sampling technique?

fafaf@d # & Hiaar Ao (H9a) T daetie &2

Purposive Sampling

TELYT AT T (RUTAT)

Stratified Random

TR AefTos i (Ffewss wsa)

Cluster

g Al (Foree)

All of these




Ty ger

Answer Key: D




